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Abstract


This paper is a descriptive survey on the constraints of verbs in English passive. The main feature of verbs that can be used in passive is transitive, but in fact not all active sentences with transitive verbs can be transformed into their corresponding passive sentences. In this article the author will reveal the features of verbs in English that are restricted to be used in passive. Some examples of acceptable and unacceptable sentences are provided to support evidence. This descriptive survey is expected to provide guidance to students and speakers of English not to generalize all English transitive verbs to be used in passive sentences.
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INTRODUCTION

In the linguistic literature passive has been one of the most frequently mentioned grammatical aspects. Various linguistic theories that have been proposed never miss to discuss about the passive and the analysis has undergone changes from time to time. However, it has never been completed until the present time.


In this paper the writer will reveal the syntactic as well as semantic aspect of passive verb in English. Generally transitive verbs may be used in passive, but a number of instances show that they are restricted to function as passive verbs. The characteristics of English verbs which cannot participate in passive will be elaborately described. Evidence and arguments towards the restrictions of English verbs which cannot be used in passive will be given in detail and will be supported by some examples both which are acceptable and not acceptable as required. The judgement of the acceptability and unacceptability is verified with some theories proposed by various linguists such as Chomsky (1957,1965,1980), Siewierska (1984), Quirk (1985), and Pandharipande (1979). Some specific examples proposed by them are also adopted in this paper.

ENGLISH PASSIVE

Passive in English is always referred to as a voice distinction from its corresponding active and has to do with the relationship between the subject and the verb and its object, or the verb and some other nouns tied to it in an intimate way (Hocket, 1958: 236).

Siewierska (1984) gives the following characteristics of the English passive construction:

a.  The subject of the passive clause is generated from the direct object in the corresponding active.

b.  The subject of the active clause is expressed in the passive in the form of an agentive adjunct or is left unexpressed.
c.  The verb is marked by be + past participle
At the clause level, passivization involves rearrangement of two clause elements and one addition. The subject of the active sentence becomes the agent of the passive and the object of the active becomes the subject of the passive. If it is an agentive passive the preposition by is inserted before the agent. Generally the prepositional agent phrase of English passive sentences is an optional sentence element (Quirk et. al., 1985:160).

Syntactically, passives differ from actives in terms of word order, case   marking, verbal morphology and in the appearance of some additional words or particles. In the case of semantic relation, there are some restrictions on the application of transitive verbs in English passive. These restrictions are considered very significant to be analysed in detail, as most foreign learners of English often generalize all transitive verbs from the possibility to be passivized.


A number of instances support the evidence that there are some constraints on English verbs that may be passivized.

Characteristics of Passive 
1. Transitivity

Active sentences with active transitive verbs may be transformed into their  corresponding passives. This condition is the particular characteristic of the English passive as the subject of a passive sentence is derived from the object in its corresponding active.

1)  a.  The demonstrators broke the traffic lights. (active)

b.  The traffic lights were broken by the demonstrators. (passive)

Compare the following sentences:

2)  a.   The demonstrators walked ten miles. (active)

b. 
*Ten miles were walked by the demonstrators. (passive)  


   Observe that (1.a) as an active sentence can be transformed into (1.b) as its corresponding passive because it makes use of a transitive verb broke, On the other hand, (2.b) is unacceptable because the verb used is not transitive.

2. Personal Passive 


   English only allows passive sentences with overt subjects. There is a concordance between the subject and the auxiliary used in the passive. Unlike English, Indonesian allows a passive sentence without an overt subject such as:

3)  a. Diumumkan         kepada    seluruh  mahasiswa  bahwa  besok        libur. 

announce + passive   to         all        students      that      tomorrow   off

‘It is announced that tomorrow is off.’

In English a passive sentence can never be without a subject. At least it must be with impersonal it.

4)  a.* Announced that tomorrow is off.

b.  It is announced that tomorrow is off.

3. Periphrastic Passive


   Another characteristic of the English passive is that it makes use of an auxiliary verb to be. This operator carries the tense of the sentence and, thus, has various finite forms according  to the desired tenses.

5). a. The minister was compelled  to do so.

b. Many ministers have been fired  by Gus Dur.
4. Syntactic Passive 


   English belongs to a language having syntactic passives where the verbal morphology is in a special form namely the past participle which is also known as verb + en,  although this form of the verb is also used for certain non-passive sentences.

6). a.  The Grape of Wrath was written by John Steinback.

b.  Drug abuse is being  eradicated in this country.

VERB CONSTRAINTS ON ENGLISH PASSIVE
Constraint here means aspects which restrict the possibility of a sentence to participate in the passive although it satisfies the general conditions of such a construction. So, verb constraints here refer to the characteristics of verbs which are restricted to function in the passive.


The factors precluding the personal passive are generally connected with the relation between the verb and the underlying direct object. The significance attributed in determining the possibility of passivization may be as the following.

1. Stative Verbs

   Verbs may be differentiated into stative and dinamic. A stative verb is a verb having the sense of state or condition rather than action such as: have, resemble, suit, fit, hold etc., which cannot be used in passive in spite of their nature as transitive verbs. The preclusion is due to the fact that they belong to the group of stative verbs.

7). a.  The deer has many horns.

b.  *Many horns are had by the deer.

8). a.   Susan resembles her mother.

b.  *Her mother is resembled by Susan.

9). a.   The food does not suit his taste.

b.  *His taste is not suited by the food.

 10)  a.   The dress fit the girl well.

b.  *The girl was fitted well by the dress.

11)  a.   The bottle holds poisonous liquid.

b.  *Poisonous liquid is held by the bottle.


Observe that all the passive sentences in (7.b-11.b) are unacceptable because the nature of the verbs is stative.

2. Non-Volitional Verbs

   The grammaticality of the passive is also determined by whether the action expressed by the verb is volitional or not. Non-volitional verbs are precluded to function in the passive. The ungrammaticality of (12.d) and (13.d) is caused by the fact that the verbs used in the context do not convey volitional action. When the same verbs are used in the context expressing volitional sense, they are absolutely acceptable  as given in (12.b) and (13.b).

12). a.   He approached the danger bravely.

b.  The danger was approached bravely by him.

c.  The train approached the station.

d.  *The station was approached by the train.

13). a.   The thief entered the house.

b.  The house was entered by the thief.

c.  The gas entered the house.

d.  *The house was entered by the gas.

3. Non-activity Verbs

   Transitive verbs which really indicate activity may be used in passive such as in (14.b) and (15.b), whereas the same verbs when used with the absence of the sense of activity may lead to ungrammatical constructions such as in (14.d) and (15.d).

14). a.   Ali weighed the sugar.

b.  The sugar was weighed by Ali.

c.  Umar weighed sixty kilos.

d.  *Sixty kilos were weighed by Ali.

15). a.   The police held the thief.

b.  The thief was held by the police.

c.  Red meat holds cholesterol.

d.  *Cholesterol is held by red meat.

4. Non-affecting Verbs

   The grammaticality of the passive may also be determined by whether the verb is viewed as having some conceivable affect on its nominal argument. (16.b) and (17.b) are grammatical because the nominal arguments are really affected by the predicate, whereas (16.d) and (17.d) are ungrammatical as the arguments can hardly be viewed as affected in the same manner.

16).a.   Amir turned the page.

b.  The page was turned by Amir.

c.  Amir turned the corner.

d.  *The corner was turned by Amir.

17).a.  John loves July.

b.  July is loved by John.

c.  John loves chicken burger.

d.  *Chicken burger is loved by John.

5. Verbs not Occurring in the Imperative 


   The hidden subject you in the imperative sentence generally controls the action expressed by the verb. In a sentence such as: Kick the ball!, the hidden subject you controls the action of kicking and such a verb may occur in the passive as in (18.b). On the other hand, if a verb does not occur in the imperative construction, it cannot be used in the passive either such as in (19.b) and (19.c).

18).a.   He kicked the ball.

       b.   Kick the ball !

c.  The ball was kicked by him.

19).a.  You like the food.

b.  *Like the food !

c.  *The food is liked by you.

20).a.   He belongs to a noble family.

b.  *Please, belong to a noble family !

c.  *A  noble family is belonged to by him.

6. Verbs not Having try-to Construction

   Many verbs may be used in try-to constructions as follows:

21). Solly tried to solve the problem.

22). Hamid tried to cheat his friend.

Verbs which may be used this way may also occur in the passive as:

23).a.   Solly solved the problem.

       b.  The problem was solved by Solly.

24).a.   Hamid cheated his friend.

       b.  His friend was cheated by Hamid

Some verbs cannot be used with try-to construction and therefore they cannot occur in the passive construction either.

25).a.   *The crossroad tried to take  a toll.

       b.  *A toll was taken by the cross road.

26).a.   *John tried to loose his money.

       b.  *His money was lost by John.

7. Verbs cannot be Modified by carefully

   Further evidence shows that some transitive verbs cannot be modified by such adverbs as deliberately, purposely, carefully, thoroughly etc. and those verbs cannot be used in passive.

27).a.   The land grows good fruit.

b.  *The land grows good fruit purposely.

c.  *Good fruit is grown by the land.

28).a.   Meat contains cholesterol.

      b.  *Meat contains cholesterol carefully.

      c.   *Cholesterol is contained by meat.

Notice that (27.a) and (28.a) are perfectly all right, whereas (27.b) and (28.b) are unacceptable because they make use of the above mentioned adverbs and      consequently such a type of verbs cannot be used in the passive as in (27.c) and (28.c).
8. Verbs with Inanimate Agent


Generally, verbs with inanimate agent cannot be used in the passive construction. The following examples show that a verb  may participate in passive if the agent is animate, but the same verb cannot be used in passive if the agent is inanimate. Observe the following:

(29)  a. Amin has grown a lot of vegetable.

b.  A lot of vegetable has been grown by Amin.

c.  The land grows good vegetable.

d.   *Good vegetable is grown by the land.

(30)  a. John bought a lot of heroin.

        b. A lot of heroin was bought by John.

c.  Five dollars bought a lot of heroin in 1950.

d.  *A lot of heroin was bought by five dollars in 1950.


However, an inanimate argument may function as a passive agent if it can move such as in the following:

(31).  The tree was collapsed by the wind.  

(32).  The house was hit by the car.

(33).   The harbour was broken by the waves.
(34).   The village was swept away by the flood.

CONCLUSION

The aspects of passive are absolutely wide  so that they are endlessly discussed. This work is an attempt to analyse one of the aspects. As described earlier, there are a number of verbs in English which are restricted to function in the passive. The characteristics of such verbs are indicating state or condition, non-voliotional , non-activity in the function, not affecting the nominal argument, not occurring in the imperative, not possible to be used in try-to construction, not possible to be modified by such adverbs as carefully, thoroughly, deliberately etc., and with inanimate agent.


This simple work, of course, cannot be claimed to be perfect and complete. Other researchers and writers are expected to suffice. At least this work may hopefully play a role as a contribution in the linguistic literature.
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